FINAL ANSWER KEY

Exam: LLB3-AUG2021
Date of Test: 12-08-2021

Question1:-Choose the word nearest in meaning to the word given in capital letters

IMPROMPTU
A:-Offhand
B:-Unimportant
C:-Unreal
D:-Effective
Correct Answer:- Option-A
Question2:-Choose the word nearest in meaning to the word given in apital letters

SALACITY
A:-Bliss
B:-Depression
C:-Indecency
D:-Recession
Correct Answer:- Option-C
Question3:-Choose the word nearest in meaning to the word given in capital letters.

ADMONISH
A:-Punish
B:-Curse
C:-Dismiss
D:-Reprimand
Correct Answer:- Option-D
Question4:-Choose the word nearest in meaning to the word given in capital letters.

WARY
A:-Sad
B:-vigilant
C:-Distorted
D:-Tired
Correct Answer:- Option-B
Question5:-Choose the word nearest in meaning to the word given in capital letters.

RABBLE
A:-Mob
B:-Noise
C:-Roar
D:-Rubbish
Correct Answer:- Option-A
Question6:-Choose the nearest one word from among the alternatives given below.

A schoolboy who cuts classes frequently is a
A:-Defeatist
B:-Sycophant
C:-Truant
D:-Martinet
Correct Answer:- Option-C
Question7:-Choose the nearest one word from among the alternatives given below.

One who does not marry, especially as a religious obligation
A:-Bachelor
B:-Celibate
C:-Virgin
D:-Recluse
Correct Answer:- Option-B
Question8:-Choose the nearest one word from among the alternatives given below.

A prima facie case is such
A:-As it seems at first sight
B:-As it is made to seem at first sight
C:-As it turns out to be at the end
D:-As it seems to the court after several hearings
Correct Answer:- Option-A
Question9:-Choose the nearest one word from among the alternatives given below.

A person excessively concerned with minor details or rules
A:-Pedantic
B:-Verbose
C:-Pompous



D:-Ornate
Correct Answer:- Option-A
Question10:-Choose the nearest one word from among the alternatives given below.

A person who insists on a quality or type of behaviour
A:-Disciplinarian
B:-Stickler
C:-Instantaneous
D:-Boaster
Correct Answer:- Option-B
Question11:-Fill up the sentence with the most appropriate words from the choices given below.

A stone that goes on rolling ...... NO MOosS.
A:-collects
B:-gets
C:-gathers
D:-accumulates
Correct Answer:- Option-C
Question12:-Fill up the sentence with the most appropriate words from the choices given below.

The boy fell ...... bicycle.
A:-of
B:-off
C:-from
D:-under
Correct Answer:-Question Cancelled
Question13:-Fill up the sentence with the most appropriate words from the choices given below.

The French ...... reputed to have a very good sense of humour.
A:-is
B:-was
C:-are
D:-will be
Correct Answer:- Option-C
Question14:-Fill up the sentence with the most appropriate words from the choices given below.

Owing to the power cut in the area, factories are being forced to ...... men
A:-throw away
B:-send off
C:-put off
D:-lay off
Correct Answer:- Option-D
Question15:-Fill up the sentence with the most appropriate words from the choices given below.

The stenographer is very efficient. He is ...... to his firm.
A:-a boon
B:-a credit
C:-a blessing
D:-an asset
Correct Answer:- Option-D
Question16:-Find out the word which is nearest to the opposite in meaning to the key word given in capitals.

NIGGARDLY
A:-Frugal
B:-Thrifty
C:-Stingy
D:-Generous
Correct Answer:- Option-D
Question17:-Find out the word which is nearest to the opposite in meaning to the key word given in capitals.

LOQUACIOUS
A:-Reticent
B:-Talkative
C:-Garrulous
D:-Verbose
Correct Answer:- Option-A
Question18:-Find out the word which is nearest to the opposite in meaning to the key word given in capitals.

GULLIBLE
A:-Incredulous
B:-Fickle
C:-Easy
D:-Stylish
Correct Answer:- Option-A
Question19:-Find out the word which is nearest to the opposite in meaning to the key word given in capitals.



SUBSERVIENT
A:-Aggressive
B:-Straightforward
C:-Dignified
D:-Supercilious
Correct Answer:- Option-C
Question20:-Find out the word which is nearest to the opposite in meaning to the key word given in capitals.

EQUANIMITY
A:-Resentment
B:-Dubiousness
C:-Duplicity
D:-Excitement
Correct Answer:- Option-D
Question21:-Identify the meaning of the idiom or phrase in capitals from the choices.

| cannot get along with a man who PLAYS FAST AND LOOSE.
A:-behaves in an unreliable and insincere way
B:-has a loose tongue
C:-lives a life of ease and luxury
D:-does not know how to behave himself
Correct Answer:- Option-A
Question22:-Identify the meaning of the idiom or phrase in capitals from the choices.

When he tells stories about himself, he is inclined to DRAW THE LONG BOW
A:-understate
B:-get emotional
C:-exaggerate
D:-get excited
Correct Answer:- Option-C
Question23:-Identify the meaning of the idiom or phrase in capitals from the choices.

Despite the efforts of all peace-loving people, world peace is still A FAR CRY
A:-an impracticable idea
B:-an abstract idea
C:-out of reach
D:-a long way off
Correct Answer:- Option-D
Question24:-Identify the meaning of the idiom or phrase in capitals from the choices.

Vikram said that he has got a problem TO SQUARE UP with the manager.
A:-consider
B:-discuss
C:-settle
D:-workout
Correct Answer:- Option-C
Question25:-Identify the meaning of the idiom or phrase in capitals from the choices.

We should GIVE A WIDE BERTH to bad characters.

A:-give publicity to

B:-publicly condemn

C:-keep away from

D:-does not sympathise with

Correct Answer:- Option-C
Question26:-Find out the incorrectly spelt word

A:-Intransigent

B:-Perspicacious

C:-Obdurate

D:-Inexorible

Correct Answer:- Option-D
Question27:-Find out the incorrectly spelt word

A:-Saponaceous

B:-Surrogate

C:-Suppress

D:-Altruisstic

Correct Answer:- Option-D
Question28:-Find out the incorrectly spelt word

A:-Virtuso

B:-Perspicacity

C:-Impeccable

D:-Archetypal

Correct Answer:- Option-A
Question29:-Find out the incorrectly spelt word

A:-Impectuous

B:-Precipitous



C:-Flamboyant

D:-Coruscating

Correct Answer:- Option-A
Question30:-Find out the incorrectly spelt word

A:-Inscrutable

B:-Deprave

C:-Bereave

D:-Vollitional

Correct Answer:- Option-D
Question31:-In the question, each passage consists of six sentences. The first and sixth sentence are given in the beginning. The middle four senten
removed and jumbled. These are labelled as P, Q, R and S. Find out the proper order for the four sentences.

S1: It is regrettable that there is widespread corruption in the country at all levels.

P : So there is hardly anything that the government can do about it now.

Q : And there are graft and other malpractices too.

R : The impression that corruption is universal phenomenon persists and the people not cooperate in checking this evil.
S : Recently several offenders were brought to book, but they were not given deterrent punishment.

S6: This is indeed a tragedy of great magnitude.

The Proper sequence should be:

A:-QSRP

B:-SQRP

C:-RSQP

D:-PQSR

Correct Answer:- Option-A
Question32:-In the question, each passage consists of six sentences. The first and sixth sentence are given in the beginning. The middle four senten
removed and jumbled. These are labelled as P, Q, R and S. Find out the proper order for the four sentences.

S1: Your letter was big relief.

P : How did your exams go?

Q : After your result, you must come here for a week.
R : You hadn't written for over a month.

S : | am sure you will come out with flying colours.
S6: But don't forget to bring chocolate for Geetha.

The Proper sequence should be:

A:-PSRQ

B:-QRPS

C:-RPSQ

D:-RSPQ

Correct Answer:- Option-C
Question33:-In the question, each passage consists of six sentences. The first and sixth sentence are given in the beginning. The middle four senten
removed and jumbled. These are labelled as P, Q, R and S. Find out the proper order for the four sentences.

S1: Religion is not a matter of mere dogmatic conformity.

P : It is not merely going through the ritual prescribed to us.

Q : Itis not a question of ceremonial piety.

R : Unless that kind of transformation occurs, you are not an authentically religious man.
S : Itis the remarking of your own self, the transformation of your nature.

S6: A man of that character is free from fear, free from hatred.

The Proper sequence should be:

A:-SPRQ

B:-QPSR

C:-PSRQ

D:-SPQR

Correct Answer:- Option-B
Question34:-In the question, each passage consists of six sentences. The first and sixth sentence are given in the beginning. The middle four senten
removed and jumbled. These are labelled as P, Q, R and S. Find out the proper order for the four sentences.

S1: The dictionary is the best friend of your task.

P : That may not be possible always.

Q : Itis wise to look it up immediately.

R : Then it must be firmly written on the memory and traced at the first opportunity.
S : Never allow a strange word to pass unchallenged.

S6: soon you will realize that this is an exciting task.

The Proper sequence should be:

A:-PQRS

B:-SPQR

C:-QRPS

D:-SQPR

Correct Answer:- Option-D
Question35:-In the question, each passage consists of six sentences. The first and sixth sentence are given in the beginning. The middle four senten
removed and jumbled. These are labelled as P, Q, R and S. Find out the proper order for the four sentences.

S1: Throughout history man has used energy from the sun.
P : Today, when we burn wood or use electric current we are drawing an energy.



Q : However we now have a new supply of energy.
R : All our ordinary life depends on sun.

S : This has come from the sun.

S6: This energy comes from inside atoms.

The Proper sequence should be:
A:-SQPR
B:-RQPS
C:-QSRP
D:-PSRQ
Correct Answer:- Option-D
Question36:-Identify the meaning of the foreign words.

“faux pas”
A:-In good faith
B:-A social blunder
C:-About
D:-Additional cost
Correct Answer:- Option-B
Question37:-Identify the meaning of the foreign words.

“persona non grata”
A:-By virtue of
B:-False report
C:-Personal details
D:-An unacceptable person
Correct Answer:- Option-D
Question38:-Identify the meaning of the foreign words.

“prima donna”
A:-At first sight
B:-a temperamental and conceited person
C:-First report
D:-In actual fact
Correct Answer:- Option-B
Question39:-Identify the meaning of the foreign words.

“pro bono”
A:-To know each other
B:-donated without charge
C:-Give in faith
D:-With utmost care
Correct Answer:- Option-B
Question40:-Identify the meaning of the foreign words.

“bon vivant”
A:-Mutual agreement
B:-Existing condition
C:-Happy journey
D:-Lover of good life
Correct Answer:- Option-D
Question41:-Convert the sentence given in the question into Indirect speech.

My uncle once said to me, “If | can’t trust my people, then | don’t want to be doing this”.
A:-My uncle once said to him that if he couldn’t trust his people then he did not want to be doing this.
B:-My uncle once said to him that if he couldn’t trust his people then he did not want to be doing that.
C:-My uncle once said to him that if he couldn’t trust my people then he did not want to be doing that.
D:-His uncle once said to him that if he couldn’t trust his people then he did not want to be doing that.
Correct Answer:-Question Cancelled

Question42:-Convert the sentence given in the question into Indirect speech.

Kiran asked me, 'Did you meet John yesterday?'
A:-Kiran asked whether | met John yesterday.
B:-Kiran asked me whether | had met John the day before.
C:-Kiran asked me did | meet John the day before.
D:-Kiran asked me whether | had met John yesterday.
Correct Answer:- Option-B
Question43:-Convert the sentence given in the question into Indirect speech.

“How long does the journey take” my co-passenger asked me.
A:-My co-passenger wanted to know how long the journey would take.
B:-My co-passenger asked me how long does the journey take.
C:-The co-passenger asked me how long the journey would take.
D:-The co-passenger asked me how long will be the journey.
Correct Answer:- Option-A

Question44:-Convert the sentence given in the question into Indirect speech.



The customer said to the tailor, 'Will you have the suit ready by tomorrow evening?'
A:-The customer asked the tailor if he would have the suit ready by the next evening.
B:-The customer asked the tailor that he would have the suit ready by the next evening.
C:-The customer asked the tailor if he would have the suit ready by tomorrow evening.
D:-The customer asked the tailor would he have the suit ready by the next evening.
Correct Answer:- Option-A

Question45:-Convert the sentence given in the question into Indirect speech.

The teacher said to the boy, 'Congratulations! Wish you all the best!"
A:-The teacher congratulated the boy and told him wish you all the best.
B:-The teacher said congratulations and all the best to the boy.
C:-The teacher congratulated the boy and wished him all the best.
D:-The teacher said congratulations to the boy and wished him all the best.
Correct Answer:- Option-C
Question46:-Which of phrases given below each sentence should replace the phrase printed in CAPITAL to make it grammatically correct?

Can you tell me WHY DID YOU NOT SPEAK the truth?
A:-why did not you speak
B:-that why did you not speak
C:-why you did not speak
D:-why did you not spoke
Correct Answer:- Option-C
Question47:-Which of phrases given below each sentence should replace the phrase printed in CAPITAL to make it grammatically correct?

Most of the Indian workers are AS HEALTHY AS, IF NOT HEALTHIER than, British workers.
A:-as if healthy as not healthier
B:-healthier but not as healthy
C:-as healthy, if not healthier
D:-No correction required
Correct Answer:- Option-D
Question48:-Which of phrases given below each sentence should replace the phrase printed in CAPITAL to make it grammatically correct?

We must TAKE IT GRANTED that Madhu will not come for today's function.
A:-take it for granted
B:-taking it granted
C:-took it as granted
D:-have it granted
Correct Answer:- Option-A
Question49:-Which of phrases given below each sentence should replace the phrase printed in CAPITAL to make it grammatically correct?

It was unanimously resolved that the parties SHOULD UNITEDLY UNDERTOOK launching of popular programmes.
A:-should be united undertook
B:-should be unitedly undertaken
C:-should be unitedly undertake
D:-should unitedly undertake
Correct Answer:- Option-D
Question50:-Which of phrases given below each sentence should replace the phrase printed in CAPITAL to make it grammatically correct?

Because of his ill health, the doctor advised him NOT TO REFRAIN FROM smoking.
A:-to not refrain from
B:-to resort to
C:-to refrain from
D:-to be refrained from
Correct Answer:- Option-C
Question51:-In the question, a sentence has been jumbled. Choose the proper sequence which are labelled P, Q, R and S to construct a logical sent

Though he dialled frequently

: on telephone

: my brother could not contact me
: and had left no information

: as | had gone out of office

WO

The Proper sequence should be:
A:-QPRS
B:-SQRP
C:-PQSR
D:-SPQR
Correct Answer:- Option-C
Question52:-In the question, a sentence has been jumbled. Choose the proper sequence which are labelled P, Q, R and S to construct a logical sent

| don't remember
P : 1 saw a man dying in front of a hospital

Q : but when | left Lucknow in 1984
R : hit apparently by a fast moving car



S : the exact date

The Proper sequence should be:
A:-SQRP
B:-SQPR
C:-QRPS
D:-SPRQ
Correct Answer:- Option-B
Question53:-In the question, a sentence has been jumbled. Choose the proper sequence which are labelled P, Q, R and S to construct a logical sent

In the darkness

: the long, narrow beard

: was clearly visible with

: the tall stooping figure of the doctor
: and the aquiline nose

WO T

The Proper sequence should be:
A:-RQPS
B:-PSQR
C:-RSQP
D:-QPRS
Correct Answer:- Option-A
Question54:-In the question, a sentence has been jumbled. Choose the proper sequence which are labelled P, Q, R and S to construct a logical sent

The appearance

P : this dinosaurs were at their peak
Q : of the first mammals on the earth
R : at the time when

S : went almost unnoticed

The Proper sequence should be:
A:-SRPQ
B:-QSRP
C:-QRPS
D:-RPQS
Correct Answer:-Question Cancelled
Question55:-In the question, a sentence has been jumbled. Choose the proper sequence which are labelled P, Q, R and S to construct a logical sent

All such students

P : enjoy success

Q : who are honest and hard-working
R : and recognition

S :in every walks of life

The Proper sequence should be:
A:-SPRQ
B:-PRQS
C:-QPRS
D:-PSRQ
Correct Answer:- Option-C
Question56:-Fill in the blank with suitable preposition.

lwillcall ........ your office some time...... the evening.
A:-at, in
B:-on, in
C:-to, at
D:-to, in
Correct Answer:- Option-A
Question57:-Fill in the blank with suitable preposition.

His father shouted....... him when he came home late.
A:-in
B:-over
C:-for
D:-at
Correct Answer:- Option-D
Question58:-Fill in the blank with suitable preposition.

The most popular therapy....... getting rid....... hiccups is to have someone to scare you when you least expect it.
A:-to, away
B:-on, to
C:-off, for
D:-for, of
Correct Answer:- Option-D



Question59:-Fill in the blank with suitable preposition.

Nobody knows the solution......... Ananthu.
A:-for
B:-except
C:-against
D:-than
Correct Answer:- Option-B
Question60:-Fill in the blank with suitable preposition.

The book comprises ......... seven lessons.
A:-of
B:-no preposition
C:-for
D:-in
Correct Answer:- Option-B
Question61:-Dr. V. Kurien is famous in the field of?
A:-Atomic Power
B:-Poultry farms
C:-Dairy development
D:-Economic Reforms
Correct Answer:- Option-C
Question62:-Who is known as 'Indian Bismarck'?
A:-Kamaraj
B:-Sardar Vallabhbhai Patel
C:-Nehru
D:-Rajaji
Correct Answer:- Option-B
Question63:-CSS is a new software released by the Union Health Ministry, stands for?
A:-Covid Severity Score
B:-Covid Scientific Score
C:-Coronavirus Science Software
D:-Covid Serious Score
Correct Answer:- Option-A
Question64:-Which country is scheduled to host the 2023 ODI World Cup?
A:-Australia
B:-New Zealand
C:-India
D:-South Africa
Correct Answer:- Option-C
Question65:-Who is the Chairman of the SEBI's Takeover Panel, which has been reconstituted by the market regulator?
A:-Justice P. Vishwanath Shetty
B:-Justice Manjunath
C:-Justice N. K. Sodhi
D:-Justice Sanjay Yadav
Correct Answer:- Option-C
Question66:-What is the theme of the World Press Freedom Day 20217
A:-Information as a Public Good
B:-Journalism without Fear or Favour
C:-Media for Democracy, Journalism and Elections in Times of Disinformation
D:-Keeping Power in Check: Media, Justice and The Rule of Law
Correct Answer:- Option-A
Question67:-Kargil Vijay Diwas is celebrated every year on which date?
A:-July 22
B:-July 24
C:-July 26
D:-July 25
Correct Answer:- Option-C
Question68:-What is the theme of the 2021 International Day Against Drug Abuse and lllicit Trafficking?
A:-Better Knowledge for Better Care
B:-Share Facts on Drugs, Save Lives
C:-Listen First
D:-Health for Justice, Justice for Health
Correct Answer:- Option-B
Question69:-When is the International Day for the Elimination of Sexual Violence in Conflict commemorated?
A:-19 June
B:-18 June
C:-20 June
D:-17 June
Correct Answer:- Option-A
Question70:-What is the theme of World Day Against Child Labour 20217
A:-Children shouldn't work in fields, but on dreams
B:-Generation Safe & Healthy
C:-Protect children from child labour, now more than ever
D:-Act now: end child labour!



Correct Answer:- Option-D
Question71:-What inspired reflecting road lights to be invented?
A:-Car door reflecting mirrors
B:-The light a cat's eyes gave off on a fence
C:-Sun light on steel posts on roadsides
D:-The sun light on the windshield
Correct Answer:- Option-B
Question72:-Who wrote the line: ' A thing of beauty is a joy forever'?
A:-John Keats
B:-Robert Browning
C:-P.B. Shelley
D:-William Wordsworth
Correct Answer:- Option-A
Question73:-Who is the author of famous statement: "That Government is the best which governs least"?
A:-Herbert Spencer
B:-Harold Laski
C:-Alexis De Tocqueville
D:-Henry David Thoreau
Correct Answer:- Option-D
Question74:-Who said, "l therefore, want freedom immediately, this very night, before dawn, if it can be had"?
A:-Jawaharlal Nehru
B:-Mahatma Gandhi
C:-Rajendra Prasad
D:-Nelson Mandela
Correct Answer:- Option-B
Question75:-The book ‘A Farewell to Arms’ was written by
A:-Charles Dickens
B:-Ernest Hemingway
C:-Thomas Hardy
D:-Huxley
Correct Answer:- Option-B
Question76:-The first Indira Gandhi Award for International Justice and Harmony has been given to
A:-Larry Pressler
B:-Amnesty International
C:-Hussain Ibrahim Zaki
D:-Yasser Arafat
Correct Answer:- Option-D
Question77:-The 'Cannes Award' is given for excellence in which field?
A:-Films
B:-Journalism
C:-Literature
D:-Economics
Correct Answer:- Option-A
Question78:-Who among the following got the '‘Bharat Ratna' award, before becoming the President of India?
A:-R. Venkatramanan
B:-Dr. Zakir Hussain
C:-V. V. Giri
D:-Dr. Rajendra Prasad
Correct Answer:- Option-B
Question79:-Manav Seva Award has been instituted in the memory of
A:-Rajiv Gandhi
B:-Dr. Rajendra Prasad
C:-Indira Gandhi
D:-Acharya
Correct Answer:- Option-A
Question80:-The power to decide an election petition is vested in the
A:-Parliament
B:-Supreme Court
C:-High courts
D:-Election Commission
Correct Answer:- Option-C
Question81:-The minimum age to qualify for election to the Lok Sabha is
A:-25 years
B:-21 years
C:-18 years
D:-35 years
Correct Answer:- Option-A
Question82:-Preamble enshrines the ideals of liberty, equality and fraternity - ideals inspired by the
A:-Russian Revolution
B:-Irish Revolution
C:-French Revolution
D:-US Constitution
Correct Answer:- Option-C
Question83:-The oath of office is administered to the Governor by the



A:-Chief justice of India
B:-President
C:-Chief justice of high court
D:-Speaker of legislative assembly
Correct Answer:- Option-C
Question84:-The preamble to our constitution provided that India is
A:-A sovereign, socialist and democratic republic
B:-A sovereign, socialist, secular, and democratic republic
C:-A sovereign republic with a socialist pattern of society
D:-A socialist, secular, and democratic republic
Correct Answer:- Option-B
Question85:-Which of the following places is famous for “Chikankari” work, which is a traditional art of embroidery?
A:-Lucknow
B:-Hyderabad
C:-Jaipur
D:-Mysore
Correct Answer:- Option-A
Question86:-Olympic creed and oath was composed by the founder of modern Olympics.
A:-Rev Father Didon
B:-Baron Pierre de Coubertin
C:-Norman Pitchard
D:-None of the above
Correct Answer:- Option-B
Question87:-Karoline Mikkelsen was the first woman to
A:-reach North Pole
B:-reach South Pole
C:-climb Mt. Everest
D:-set foot on the moon
Correct Answer:- Option-B
Question88:-The Olympic Flame symbolises
A:-Unity among various nations of the world
B:-Speed, perfection, and strength
C:-Sports as a means for securing harmony among nations
D:-Continuity between the ancient and modern games
Correct Answer:- Option-D
Question89:-The purpose of United Nations Fund for Population Activities (UNFPA) is
A:-Studying population dynamics
B:-Collecting population data
C:-Evolving population policies, family planning and related programmes
D:-All the above
Correct Answer:- Option-D
Question90:-The news agency Reuters belongs to which of the following country?
A:-Palestine
B:-Yugoslavia
C:-Vietnam
D:-UK
Correct Answer:- Option-D
Question91:-The North Atlantic Treaty Organisation was created in
A:-1945
B:-1947
C:-1949
D:-1951
Correct Answer:- Option-C
Question92:-Where was the headquarters of European Union located?
A:-Brussels
B:-Paris
C:-London
D:-Rome
Correct Answer:- Option-A
Question93:-The process of revival of learning that swept across Europe in 15th and 16th centuries is called
A:-Feudalism
B:-Crusade
C:-Renaissance
D:-Communism
Correct Answer:- Option-C
Question94:-The number of judges is European Court of Human Rights are
A:-5
B:-11
C:-47
D:-15
Correct Answer:- Option-C
Question95:-The national flag was adopted by the Constituent Assembly of India on
A:-August 15, 1947
B:-July 22, 1947



C:-January 26, 1950
D:-January 2, 1950
Correct Answer:- Option-B
Question96:-What is Magna Carta?
A:-It was a charter of Rights granted to the Englishmen during 1215 AD by King John I
B:-It was a charter guaranteeing the freedom of the barons, the church, and the common man
C:-It is the foundation stone of the rights and liberties of the English people
D:-All of the above
Correct Answer:- Option-D
Question97:-What is the population density of Kerala?
A:-859/sq. km
B:-602/sq. km
C:-415/sq. km
D:-500/sq. km
Correct Answer:- Option-A
Question98:-Where is the permanent secretariat of the SAARC?
A:-Kathmandu
B:-New Delhi
C:-Islamabad
D:-Colombo
Correct Answer:- Option-A
Question99:-Which is the oldest paramilitary force in the country?
A:-Border Security Force (BSF)
B:-Assam Rifles
C:-Indo-Tibetan Border Police (ITBP)
D:-Coast Guard
Correct Answer:- Option-B
Question100:-Which is the India's largest and the oldest museum?
A:-Indian Museum, Kolkata
B:-National Museum, New Delhi
C:-Allahabad Museum
D:-Salar Jung Museum, Hyderabad
Correct Answer:- Option-A
Question101:-When was the International Monetary Fund established?
A:-1945
B:-1946
C:-1947
D:-1950
Correct Answer:- Option-A
Question102:-Which of the following are the members of OPEC (Organisation of Petroleum Exporting Countries) ?
A:-Algeria, Indonesia, Iran, Iraq, Kuwait
B:-Libya, United Arab Emirates, Nigeria
C:-Qatar, Saudi Arabia, Venezuela
D:-All of the above
Correct Answer:- Option-B
Question103:-Which is the biggest literary award of Britain?
A:-David Cohen Award
B:-Kalinya Award
C:-Owen Global Prize
D:-Golden Bear Award
Correct Answer:- Option-A
Question104:-Which body of UNO carries on the function of the UNO about international, economic, social, cultural, education, wealth, and related rr
A:-General Assembly
B:-Security Council
C:-The Economic and Social Council
D:-Trusteeship Council
Correct Answer:- Option-C
Question105:-Which is the highest literary award of the world ?
A:-Nobel Prize
B:-Booker Prize
C:-Pulitzer Prize
D:-Magsaysay Award
Correct Answer:- Option-A
Question106:-Look at this series: 31, 29, 24, 22, 17, ... What number should come next?
A:-15
B:-14
C:-13
D:-12
Correct Answer:- Option-A
Question107:-Look carefully for the pattern, and then choose which pair of numbers comes next. 42 40 38 35 33 31 28
A:-25 22
B:-26 23
C:-26 24
D:-25 23



Correct Answer:- Option-C
Question108:-A man has some hens and cows. If the number of heads be 48 and the number of feet equals 140, then the number of hens will be:
A:-22
B:-23
C:-24
D:-26
Correct Answer:- Option-D
Question109:-A man has Rs.480 in the denominations of one-rupee notes, five-rupee notes and ten-rupee notes. The number of notes of each deno
What is the total number of notes that he has?
A:-45
B:-60
C:-75
D:-90
Correct Answer:- Option-D
Question110:-The price of 10 chairs is equal to that of 4 tables. The price of 15 chairs and 2 tables together is Rs. 4000. The total price of 12 chairs ¢
A:-Rs. 3500
B:-Rs. 3750
C:-Rs. 3840
D:-Rs. 3900
Correct Answer:- Option-D
Question111:-At what rate of compound interest per annum will a sum of Rs. 1200 become Rs. 1348.32 in 2 years?
A:-6%
B:-6.5%
C:-7%
D:-7.5%
Correct Answer:- Option-A
Question112:-The ratio between the perimeter and the breadth of a rectangle is 5: 1. If the area of the rectangle is 216 sq. cm, what is the length of tl
A:-16 cm
B:-18 cm
C:-24 cm
D:-Data inadequate
Correct Answer:- Option-B
Question113:-Six years ago, the ratio of the ages of Joy and Roy was 6: 5. Four years hence, the ratio of their ages will be 11: 10. What is the preser
A:-16 years
B:-18 years
C:-20 years
D:-Cannot be determined
Correct Answer:- Option-A
Question114:-What is the least number of square tiles required to pave the floor of a room 15 m 17 cm long and 9 m 2 cm broad?
A:-814
B:-820
C:-840
D:-844
Correct Answer:- Option-A
Question115:-The difference between the length and breadth of a rectangle is 23 m. If its perimeter is 206 m, then its area is:
A:-1520 m?
B:-2420 m?
C:-2480 m?
D:-2520 m?
Correct Answer:- Option-D
Question116:-Look at this series: 544, 509, 474, 439, ... What number should come next?
A:-404
B:-414
C:-420
D:-445
Correct Answer:- Option-A
Question117:-A tank is 25 m long, 12 m wide and 6 m deep. The cost of plastering its walls and bottom at 75 paise per sq.m. is:
A:-Rs. 456
B:-Rs. 458
C:-Rs. 558
D:-Rs. 568
Correct Answer:- Option-C
Question118:-Today is Monday. After 61 days, it will be:
A:-Wednesday
B:-Saturday
C:-Tuesday
D:-Thursday
Correct Answer:- Option-B
Question119:-A sum of money amounts to Rs. 9800 after 5 years and Rs. 12005 after 8 years at the same rate of simple interest. The rate of interest
A:-5%
B:-8%
C:-12%
D:-15%
Correct Answer:- Option-C



Question120:-A train running at the speed of 60 km/hr crosses a pole in 9 seconds. What is the length of the train?
A:-120 metres
B:-180 metres
C:-324 metres
D:-150 metres
Correct Answer:- Option-D
Question121:-In an election between two candidates, one got 55% of the total valid votes, 20% of the votes were invalid. If the total number of votes
number of valid votes that the other candidate got, was:
A:-2700
B:-2900
C:-3000
D:-3100
Correct Answer:- Option-A
Question122:-A boat having a length 3 m and breadth 2 m is floating on a lake. The boat sinks by 1 cm when a man gets on it. The mass of the man
A:-12 kg
B:-60 kg
C:-72 kg
D:-96 kg
Correct Answer:- Option-B
Question123:-72519 x 9999 =7
A:-725117481
B:-674217481
C:-685126481
D:-696217481
Correct Answer:- Option-A
Question124:-Find the odd man out. 8, 27, 64, 100, 125, 216, 343
A:-27
B:-100
C:-125
D:-343
Correct Answer:- Option-B
Question125:-Insert the missing number. 16, 33, 65, 131, 261, (......)
A:-523
B:-521
C:-613
D:-721
Correct Answer:- Option-A
Question126:-Reena took a loan of Rs. 1200 with simple interest for as many years as the rate of interest. If she paid Rs. 432 as interest at the end ¢
what was the rate of interest?
A:-3.6
B:-6
C:-18
D:-Cannot be determined
Correct Answer:- Option-B
Question127:-Find out the wrong number in the series. 19, 26, 33, 46, 59, 74, 91
A:-26
B:-33
C:-46
D:-59
Correct Answer:- Option-B

Question128:-The sum of the present ages of a father and his son is 60 years. Six years ago, father's age was five times the age of the son. After 6 \
be:

A:-12 years
B:-14 years
C:-18 years
D:-20 years
Correct Answer:- Option-D
Question129:-How many times do the hands of a clock coincide in a day?
A:-20
B:-21
C:-22
D:-24
Correct Answer:- Option-C
Question130:-Salaries of Ravi and Sumit are in the ratio 2 : 3. If the salary of each is increased by Rs. 4000, the new ratio becomes 40 : 57. What is
A:-Rs. 17,000
B:-Rs. 20,000
C:-Rs. 25,500
D:-Rs. 38,000
Correct Answer:- Option-D
Question131:-Who said “the Preamble is the key to the Constitution”
A:-Dr B.R. Ambedkar
B:-Dr Rajendra Prasad
C:-Jawaharlal Nehru
D:-C. Rajagopalachari
Correct Answer:- Option-A



Question132:-Article 19 of the Constitution of India contains
A:-9 Fundamental Freedoms

B:-8 Fundamental Freedoms
C:-7 Fundamental Freedoms
D:-6 Fundamental Freedoms
Correct Answer:- Option-D

A:-Prime Minister
B:-President

C:-Vice President
D:-Council of Ministers
Correct Answer:- Option-B

Question133:-The Chairman of the National Human Rights Commission is appointed by

Question134:-Rights given in the Constitution are called Fundamental Right because
A:-They are natural rights

B:-They can’t be suspended
C:-They are a part of the Constitution

D:-They can be enforced and safeguarded by the courts
Correct Answer:- Option-D

Question135:-The emergency provisions of the Constitution of India have been borrowed from
A:-German Constitution
B:-American Constitution
C:-French Constitution
D:-Irish Constitution
Correct Answer:- Option-A

Question136:-What is the maximum gap permissible between two sessions of the Parliament?
A:-3 months

B:-4 months

C:-6 months

D:-12 months

Correct Answer:- Option-C

Question137:-Adjournment of the House is the power of the
A:-President

B:-Speaker

C:-Prime Minister
D:-Council of Ministers
Correct Answer:- Option-B

Question138:-In the Indian federal system, residuary powers rest with the
A:-Local government

B:-State
C:-Judiciary
D:-Centre
Correct Answer:- Option-D
Question139:-which among the following is not created by the Constitution
A:-Planning Commission
B:-Finance Commission
C:-Election Commission
D:-UPSC
Correct Answer:- Option-A
Question140:-Who is the Constitutional head of the state governments?
A:-Chief Minister of the State
B:-High court judge
C:-Governor
D:-Health Minister of the State
Correct Answer:- Option-C

A:-Preamble
B:-Fundamental Rights

C:-Directive Principles of State Policies
D:-Fundamental Duties

Correct Answer:- Option-B

Question141:-Habeas Corpus is associated with which of the given part of the Indian Constitution?

Question142:-What is the meaning of the term 'Liberty'?

A:-Right to express anything
B:-Right to go anywhere
C:-Absence of restrictions
D:-Presence of restrictions

Correct Answer:- Option-C

Question143:-Original jurisdiction of the Supreme Court is contained in

A:-Article 131

B:-Article 129

C:-Article 132

D:-Article 136

Correct Answer:- Option-A

Question144:-Quo Warranto is
A:-Writ



B:-Statute
C:-Treaty
D:-Act
Correct Answer:- Option-A
Question145:-Voluntarily throwing or attempting to throw acid is an offence punishable under Indian Penal Code, 1860, under:
A:-Section 326A
B:-Section 326B
C:-Section 228A
D:-Section 228.
Correct Answer:- Option-B
Question146:-A demand or request for sexual favour from a woman is punishable offence under Indian Penal Code, 1860, under:
A:-Section 354A
B:-Section 354B
C:-Section 354C
D:-Section 354D
Correct Answer:- Option-A
Question147:-Section 34 of IPC:
A:-creates a substantive offence
B:-is a rule of evidence
C:-both (a) and (b)
D:-neither (a) and (b)
Correct Answer:- Option-B
Question148:-Under section 45 of IPC, life denotes:
A:-life of a human being
B:-life of an animal
C:-life of human being and of an animal both
D:-life of either human being or animal
Correct Answer:- Option-A
Question149:-The doctrine ‘volenti nonfit injuria’ is contained in:
A:-Section 87 of IPC
B:-Section 92 of IPC
C:-Section 89 of IPC
D:-All the above.
Correct Answer:- Option-D
Question150:-Under section 89 the consent in respect of infants under 12 years of age or persons of unsound mind
A:-Can be given by their guardians without any restriction
B:-Can be given by the guardian subject to restrictions mutually agreed upon
C:-Can be given by the guardians subject to restrictions imposed by law
D:-All the above.
Correct Answer:- Option-C
Question151:-The right to private defence is available with respect to:
A:-Harm to body
B:-Harm to movable property
C:-Harm to immovable property
D:-All the above
Correct Answer:- Option-D
Question152:-The maxim ‘de minimus non curat lex’ means
A:-Law would not take action on small & trifling matter
B:-Law does not ignore any act which causes the slightest harm
C:-Law would not take action in serious matters
D:-All the above.
Correct Answer:- Option-A
Question153:-X, a person having sufficient food but does not provide some food to a beggar who dies of hunger. X is guilty of
A:-Murder
B:-Attempt to murder
C:-Causing death by rash or negligent act
D:-No offense
Correct Answer:- Option-D
Question154:-A and B agreed to commit the murder of C by poisoning and D was to procure poison, but he did not procure it. A and B are guilty of
A:-No offense
B:-Criminal conspiracy to murder C
C:-Abatement of murder by conspiracy
D:-Attempt to murder with the aid of section 34 Indian Penal Code
Correct Answer:- Option-C
Question155:-According to whom jurisprudence is ‘the formal science of positive law’
A:-Holland
B:-Austin
C:-Salmond
D:-Allen
Correct Answer:- Option-A
Question156:- rights are recognised and enforced at law.
A:-Legal
B:-Moral
C:-Natural



D:-Ethical
Correct Answer:- Option-A
Question157:-Personal rights are
A:-Inheritable
B:-Uninheritable
C:-Inheritable or uninheritable
D:-Neither inheritable or uninheritable
Correct Answer:- Option-B
Question158:-Which of the following is not related to Tort law?
A:-Uncodified
B:-Unliquidated damages
C:-Pigeon Hole theory
D:-Criminal Law
Correct Answer:- Option-D
Question159:-The pigeon-hole theory for the law of tort was given by:
A:-Salmond
B:-Winfield
C:-Lord Macaulay
D:-None of the above
Correct Answer:- Option-A
Question160:-Which of the following is not a tort?
A:-Defamation
B:-Negligence
C:-Culpable Homicide
D:-Nuisance
Correct Answer:- Option-C
Question161:-What is the legal meaning of the word ‘Battery’?
A:-Cells as used in torch, tape recorder etc.
B:-Battering a person to death.
C:-Actual or intended striking of another person.
D:-Assault resulting in, at least, 6 months hospitalisation.
Correct Answer:- Option-C
Question162:-The world jurisprudence first started in the country
A:-Germany
B:-Rome
C:-Greek
D:-Britain
Correct Answer:- Option-B
Question163:-Jurisprudence means
A:-Knowledge of society
B:-Knowledge of Science
C:-Knowledge of Law
D:-Knowledge of Country
Correct Answer:- Option-C
Question164:-The most prominent philosophy of law in the eighteenth century was
A:-Sociological School of Law
B:-Positive School of Law
C:-Analytical School of Law
D:-Realistic School of Law
Correct Answer:- Option-C
Question165:-Co-relatives are
A:-Right and duty
B:-Privilege and no-right
C:-Both (a) and (b)
D:-None of these
Correct Answer:- Option-C
Question166:-Opposite are
A:-Immunity and liability
B:-Power and disability
C:-Right and Duty
D:-Power and Liability
Correct Answer:- Option-A
Question167:-The greatest disadvantage of legislation is
A:-Its flexibility
B:-Its rigidity
C:-Its modification
D:-All the above
Correct Answer:- Option-D
Question168:-Torts are grounded in the concept of
A:-Law
B:-Courts
C:-Rights
D:-Sincerity
Correct Answer:- Option-C



Question169:-A loud bass beat that can be heard through an apartment wall (from another apartment) at midnight can be classified as
A:-Nuisance
B:-Trespass
C:-Interference with contractual relations
D:-Conversion
Correct Answer:- Option-A
Question170:-Defamation involves:
A:-Using a weapon
B:-At least 5 people to be present.
C:-A contract.
D:-Making false statements about someone.
Correct Answer:- Option-D
Question171:-Negligence involves:
A:-A crime
B:-Carelessness
C:-Assault
D:-Trespass
Correct Answer:- Option-B
Question172:-An anticipatory bail may be granted by:
A:-Session court
B:-High Court
C:-Granted by (a) but subject to confirmation by (b)
D:-Both (a) and (b)
Correct Answer:- Option-D
Question173:-Special powers to direct bail of any accused on certain conditions or to modify the conditions already prescribed lie with which of the fc
A:-Sessions court
B:-Chief judicial magistrate
C:-Chief metropolitan magistrate
D:-All of the above
Correct Answer:- Option-A
Question174:-In a case where a surety for an accused dies
A:-His legal heirs become sureties
B:-Bail cannot be granted again
C:-Fresh surety is asked for, and on failure to furnish fresh security, the court can consider it to be a breach of the original order
D:-Bail continues subject to the daily presence of the accused in the police station nearest to him
Correct Answer:- Option-C
Question175:-Police cannot compel the attendance of any person as a witness if he is under the age of
A:-15 years
B:-16 years
C:-17 years
D:-18 years
Correct Answer:- Option-A
Question176:-A warrant may be executed
A:-Within the jurisdiction of the court where the magistrate issues the warrant
B:-Within the session division where the warrant is issued
C:-Within the jurisdiction of the High Court under whose jurisdiction warrant was issued
D:-At any place in India
Correct Answer:- Option-D
Question177:-A complainant can withdraw his complaint at any time until
A:-Court takes cognizance of the case
B:-Charge is framed
C:-Arguments between prosecution and defence begin
D:-Final order is passed
Correct Answer:- Option-D
Question178:-A case cannot be tried summarily by:
A:-Magistrate of the first class
B:-Sessions judge
C:-Chief judicial magistrate
D:-Metropolitan magistrate
Correct Answer:- Option-B
Question179:-The maximum sentence of imprisonment that may be given for a case triable summarily is
A:-One month
B:-Two month
C:-Three month
D:-Six Months
Correct Answer:- Option-C
Question180:-When an offender has been sentenced to payment of a fine, the court cannot recover the fine by
A:-Issuing warrant for attachment of movable property
B:-Issuing warrant for sale of movable property
C:-By publicly auctioning movable property
D:-Issue warrant to the District Collector for realizing the amount as arrears of land revenue
Correct Answer:- Option-C
Question181:-The order for compensation under section 250 of the Code of Criminal Procedure, 1973 can be made
A:-In cases where the offences are compounded



B:-Where discharge or acquittal is not made
C:-By the Magistrate only where the offence charged is triable by him
D:-By the successor in office
Correct Answer:- Option-C
Question182:-The Magistrate at his discretion can allow the complainant to withdraw the complaint and acquit the accused in case of
A:-Warrant case
B:-Summons case
C:-both A and B
D:-neither A nor B
Correct Answer:- Option-B
Question183:-When the police register a case regarding commission of a cognizable offence, the registration of the case is under
A:-section 154 of Cr PC
B:-section 155 of Cr PC
C:-section 156 (3) of Cr PC
D:-section 190 of Cr PC
Correct Answer:- Option-A
Question184:-The rights of consumers as per the consumer protection Act does not include the right to be
A:-Informed
B:-Heard
C:-Safety
D:-Presented
Correct Answer:- Option-D
Question185:-Among the following which forum can reappoint the same person as its member
A:-District Forum
B:-State Commission
C:-NationalCommission
D:-none of the above
Correct Answer:- Option-D
Question186:-Legal Principle: Communication of offer and acceptance is must for a valid contract.

Factual Situation: A proposes by speed post, to sell a watch to B at a definite price. A revokes his proposal by email after 6 hours to B. Whether the
offer is valid?

A:-Yes, revocation of offer is valid.

B:-Revocation of offer is not valid because it is not complete.

C:-Neither (a) nor (b).

D:-Revocation of offer is not accepted through two different means.

Correct Answer:- Option-A
Question187:-Legal Principle: An agreement, the meaning of which is not certain, or capable of being made certain, is void.

Factual Situation: Mohan offered to sell land to Ram at 80 lakhs. Ram replied accepting the offer and enclosing 30 lakhs and promising to pay the ba
monthly instalments of 50000 each. Since Ram accepted the offer subject to making full payments in instalments, decide as a judge whether there is
A:-Valid contract.
B:-Invalid contract.
C:-Voidable at option of Mohan.
D:-Misrepresentation of Facts in contract.
Correct Answer:- Option-B
Question188:-Principle: Consent is a good defence in a civil action for tort but the act should be the same for which consent was given.

Facts: 'B' was formally invited by 'A' to his house. 'B' after sitting for some time in drawing room, moved to the bed room of the house. 'A' sued 'B' for
A:-B has interfered with privacy of ‘A’
B:-B' has committed no trespass as he entered the house with 'A's consent.
C:-'B' has offended 'A' by moving to bed room.
D:-‘B’ has committed trespass as there was no consent of ‘A’ for entry in the Bed room
Correct Answer:- Option-D
Question189:-Principle: Whoever takes away any moveable thing form the land of any person without that person's consent, he is said to have comn
Facts: During his visit to the house of 'C', 'A' asked 'B' the son of 'C', to accompany 'A' to the forest. Neither 'A" nor 'B' informed 'C' in this regard. 'B' a
the forest.
A:-A has committed theft as soon as he entered the house of ‘C’
B:-A has not committed theft
C:-A has committed theft
D:-A has not committed theft till ‘B’ did not accompany him.
Correct Answer:- Option-B
Question190:-Principle: The communication of a proposal is complete when it comes to the knowledge of the person to whom it is made.

Facts: 'A' sent a letter making a proposal to 'B' to purchase the house of 'B'.
A:-The communication of proposal is complete when ‘B’ reads the letter
B:-The communication of proposal is complete when A sent the letter.
C:-The communication of proposal is complete when B's wife received it.
D:-The communication of proposal is complete when B's wife handed over the letter to 'B'.
Correct Answer:- Option-A
Question191:-Principle: Law does not penalise for wrongs which are of trivial nature.

Facts: In the course of a discussion, 'A’ threw a file of papers at the table which touched the hands of 'B'.
A:-A is liable for his act, as the file touched B’s hand.
B:-'A' is liable for his act, as it assaulted 'B'.



C:-A'is liable for insulting 'B'.
D:-Ais not liable for his act, as it was of trivial nature
Correct Answer:- Option-D
Question192:-Which Right was remarked by Dr B.R. Ambedkar as the “heart and soul of the Constitution”
A:-Right to Equality
B:-Right to Freedom
C:-Right to Education
D:-Right to Constitutional remedies
Correct Answer:- Option-D
Question193:-The adult suffrage has been provided under
A:-Constitution of India
B:-Representation of Peoples Act
C:-Right to Information Act
D:-Indian Majority Act
Correct Answer:- Option-A
Question194:-A, at Madras, by letter directs B to sell for him some cotton lying in a warehouse in Bombay, and afterwards, by letter revokes his authc
directs, B to send, the cotton to Madras. B, after receiving the second-letter, enters into a contract with C, who knows of the first letter, but not of the
of the cotton to him. C pays B the money, with which B absconds.
A:-C’s payment is not good as against A
B:-C’s payment is good as against A
C:-either (A) or (B)
D:-None of these
Correct Answer:- Option-B
Question195:-Factors which cause the exploitation of the consumer
A:-Limited and wrong information
B:-llliteracy and ignorance of the consumer
C:-Few sellers and limited competition
D:-All the above
Correct Answer:- Option-D
Question196:-How many rights does a consumer have under Consumer Protection Act
A:-8
B:-6
C-4
D:-5
Correct Answer:- Option-B
Question197:-The consumer has right to get compensation against unfair trade practices Under right to
A:-Right to choose
B:-Right to Redressal
C:-Right to safety
D:-None of the above
Correct Answer:- Option-B
Question198:-What is the time limit to get information under RTI Act 2005
A:-15 days
B:-45days
C:-60 days
D:-30 days
Correct Answer:- Option-D
Question199:-In Which year India’s IT Act came into existence
A:-2000
B:-2001
C:-2002
D:-2003
Correct Answer:- Option-A
Question200:-Which of the following is an example of intellectual property
A:-Patent
B:-Trademark
C:-Copy right
D:-All of the above
Correct Answer:- Option-D



